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=) UPCOMING ONLINE BATCHES

02 NOV 2022

08:00 AM to 10:00 AM

BANK ONLINE LIVE CLASS

05:30 PM to 07:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL

02 NOV 2022

06:30 PM to 08:30 PM

BANK ONLINE LIVE CLASS

BENGALI+ENGLISH

November 2022

09 NOV 2022 16 NOV 2022 23 NOV 2022

07:30 PM to 09:30 PM

BANK ONLINE LIVE CLASS

01:00 PM to 03:00 PM

BANK ONLINE LIVE CLASS

05:30 PM to 07:30 PM

BANK ONLINE LIVE CLASS

08:00 AM to 10:00 AM

SSC ONLINE LIVE CLASS

03:00 PM to 05:00 PM

SSC ONLINE LIVE CLASS

01:00 PM to 03:00 PM

SSC ONLINE LIVE CLASS

BILINGUAL BILINGUAL BILINGUAL

23 NOV 2022

04:00 PM to 06:00 PM

BANK ONLINE LIVE CLASS

BENGALI+ENGLISH

30 NOV 2022

10:30 AM to 12:30 PM

BANK ONLINE LIVE CLASS

07:30 PM to 09:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL

& www.mahendras.org e  7052477777/7052577777
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TARGET MATHS- 25/25

Ques 1- Two numbers are 1n the ratio 5 ¢ 9. If their HCF 1s 14, then what 1s their LCM?

ST EEATY 5 : 9 o ITUTT H 8| Al ST HEwH GHIIS 14 &, AT SRl THH HHTIEdoh T G2

8820
196
56
630
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Ques 2- A shopkeeper allows 23% commission on his marked price and still makes a profit
of 10%.1f he gains Rs 56 on the item. Find the marked price of the item ?

Ueh GeRIMETL 37U Jifehe T T 23% SHHITI oht ST ST € ST T it 10% 1 AT HATdT 2|
I I8 TE T 56 TYY TATH TTH HLAT &l TE] hT 3Hfohel Tod I L 2

a) 800
b) 750
) 600
d) 700




TARGET MATHS- 25/25

Ques 3- A car travels 1/3 of the distance on a straight road with a speed of 20 km/h, 1/4 of
the rest with a speed of 25 km/h and the last speed of 30 km/h. What is the average speed of
the car for the whole journey?

3AT:- Ueh %N 20 Tohei/EIeT o6 =ITeT o @rer Tliefl geh WX 1/3 00 ohl AT <hicll €, AT AT 1/4, 25

fpefl/eieT 3 =TeT 3 ey SR 9 30 FRtf/eeT 3 =Ter % G AT AT ® | T I o T7T L
3 I T 22

a) 25km/h
b) 20 km/h
¢) 15km/h
d) 30 km/h
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Ques 4- In one hour a boat goes 11 km along the stream and 5 km against the stream. What

1s the speed of the boat in still water (in km/hr) ?
3aT: Ueh & H Uk 1 9TRT o 91 11 TorHT 31T g o Rgarss 5 foreft STt 21 <1id STt 3 |19 A

Tt ferat & (fept / gfar )2

a) 12 km/h
b) 6km/h
¢) 8km/h
d) 9km/h
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Ques 5- A tradesman marks his goods at such a price that after allowing a discount of 15%,

he makes a profit of 20%. What 1s the marked price of an article whose cost price 1s Rs
1707

Y : Ueh SATIRT 379 FHT i 31 shiAd 9L Feifed T & Tk 15% shl D¢ ol ST o o 18, I8

20% ShT ATH FHHTAT 3| Th IE] AT Hfehd AT 2 fSrah ara 7 170 T8

a) 240
b) 200
) 220
d) 180
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Ques 6- Rahul can row a certain distance downstream in 18 h and can return the same
distance 1n 24h. If the stream flows at the rate of 8 km/h, then find the speed of Rahul in still

water.
TS YT o TJehet Uoh (M2 gt 18 © H 0 o Hehell € 3T 24 © H TH U U 10 3T Hehell

2 7 o SWmaﬁﬂﬁﬁaﬁ% UMK CEREGED SRUNEISEI STl

a) 16km/h
b) 56km/h
¢) 26km/h
d) 36km/h
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1
Ques 7- 1fx+ } — then find the value of

1
X4+F:,

a) 49

b) 23
\7 ' ) c) 47
L - L

d 7
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Ques 8- If x2+1= 2x

then
X4+i%
X

X% -3X+1

=9

<
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Ques 9- . The average of 5 consecutive odd number is 61. Find the
largest number? . . ‘

3el:- 5 oIaR faud J&a1 &1 31ad 61 &1 G Fo1 J&IAT IATd
HITA?

a) 59
b) 57
c) 63
d) 65
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Ques 10- . The average monthly salary of 20 employees in an

organization is Rs. 1500. If the manager's salary is added then
the average salary increases by Rs. 100.. What Is the manager's
monthly salary?

3CT:- Ueh HITSA H 20 HAATRAT BT IHHF ATRAD dd=T 1500 2T
ol ?ﬁécl?»r‘ucb T Al SITST SITaT & ar 3 dder 100 3T &6 STdl
& | U hT ATTHD ddeT AT &2

a) 2600
b) 3600
¢) 3000
d) 3200
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Ques 11- . The average monthly salary of 20 employees in an

organization is Rs. 1500. If the manager's salary is added then
the average salary increases by Rs. 100.. What Is the manager's
monthly salary?

3&T:- Uh IS A 20 HHATRIT T 3T ATRAD dd<T 1500 3TA
&1 ITE JeTeh ol didd SitsT il a1 3ira AdeT 100 3 92 STl
S| TSIk T ATTHD dded AT &2

a) 2600
b) 3600
¢) 3000
d) 3200
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Directions (Q. 12- 17): Pie chart shows the percentage distribution of total students appeared in six

different shifts of an exam. Study the pie chart given below and answer the following questions.

Total students appered in exam - 5500

|
2
m3
m4
W5
W6
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Q.12:- Find average number of students appeared in shift 1 , 2 and 4 of the exam.

oiredt st gredt 1, 2 3R 4 1 IJUfed 819 diel ST ahl 311d T JTd ahiisig)

(A)900
(B)1040
(C)720

Total students appered in exam - 5500

w1
m2
m3
m4
m5
m6
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Q.13:- Find the central angle for students appeared in shift 2 of the examination.

ORI sht R el | SUIEer U BT o {oTT hsd shioT FTel Al

(A)64.2°
(B)48°

(C)57.6°
(D)43.6°

Total students appered in exam - 5500

w1
2
m3
m4
W5
M6
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Q.14:- Find total number of students appeared in shift 5 and 6 together of the examination.

et <Al 13192 5 3R 6 | Teh ©T IUTEAd §T BT ohl el HE&AT Tl shi19g]

(A)1540
(B)1600
(C)1820
(D)1740

Total students appered in exam - 5500

|
2
m3
m4
W5
W6
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Q.15:- Students appeared in shift 3 and 4 together of the examination are what percent more
or less than students appeared in shift 1 of the examination ?

et § Tk G 3 3N 4 IUTErd g¢ R WWIed shl et 1§ Suieerd o6l | fohad Sfasrd

31fereh a7 oy 27

INEZ
(B)70%
(C)80%
(D)50%

Total students appered in exam - 5500

w1
m2
m3
m4
W5
W6
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Q.16:- Find ratio of students appeared in shift 4 & 6 together of the examination to students

appeared 1n shift 2 & 3 together of the examination .

qieT < Teft 4 AR 6 T TshETe JUTErd gC BHT ohT GUalt ol arefl 2 3R 3§ Tshere Juféerd

g BEI © ST HTd sy

(A)3:4
(B)5:7
(G
(D)7:5

Total students appered in exam - 5500

m2
m3
m4
W5
W6
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Q.17:- Students appeared in shift 1 and 6 together of the examination are how much more or

less than students appeared 1n shift 3 and 5 together of the examination ?

qlieT < et 1 31 6 o Ush |rer ufderd g o wlier it urell 3 311 5 § vy 3ufted 3¢

B 9 ford 3feres a1 A 87

(A)330
(B) 150
(C)360
(D)280

Total students appered in exam - 5500

m2
m3
m4
W5
W6
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Ques 18- Present ages of Rani and Kamran are 1n the ratio of 5:6, respectively. 7 yr

hence, this ratiowill become 6:7, respectively. What is Rani’s present age?
IET:- THT SR I shl SAH SR ShT STAATT 5:6 81 7 I SIS $hT AU 6:7 T THT 3

JAHT AT T U 2

(a) 40
(b) 35

( -~ N> (c) 45
0 (d) 30
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Ques 19- Pushpa was married 6 years ago. Her present age is 5/4 times of the age at the
time of her marriage. Her son’s age is 1/10th of her present age. What is the present
age of her son?

qT 3T 6 HT T8t RMTal 85 off| SHehT TdHT AT 36eh (a8 o &Y ht 3T M 5/4 T 8
36 si¢ hl 3H 38eh! A H 35 sht 1/1 Ocff 81 36k T shl IH HTY 1 82

(a) 4
(b) 3

&) "
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Ques 20- Ex: If the average weight of a class 1s 15 kg. and the average weight of
another class 1s 30 kg. then find the ratio of the students of the first class to another class
students when the average weight of both the classes 1s 25 kg.

3ST: Ueh Shall 2T ST ST 15 TohmT. 371 Bt shafl i ST st 30 fohuT. @ a1 weedl e
ST el el oh TRt o sfier STl T 2hifSTy Jfe T Shefret ot ST st 25 fehu.
2l

a) 1:2
b) 2:1
c) 34
d) 4:3
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